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, S S Se
: ( )
1.
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G_n H_n N_n
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G joH
N _|_367r1 kw (2.22)
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H -G,
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AH = H (2.24)
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G
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def’( )
H
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S
G AB
be b€, Hue< Hew
SeE ,
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: Geo
2. 30
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EF
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a'bcd'ée
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H c'd

2.33 2.34
O'E )

2.2
P :

CD,

OB O'E

, (OB

oo

2.35 , P
‘Ha= 20mH:0, He= 15mH:0,

Hc= 4OmH20, Ho= 25mHzO, Gac= Gep = 100t/h, Gc= 90t/h, G

= 70t/h, Gep= 60t/h

Her = 25mH20,Hr,= 15mH-0,

(1) P2
(2) P
Gk,Gv  He¢,Ho ?

(3)
?
P. P2
S
P
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2.35

Ha- Hc_ 20- 40

SAPlc = Gf\C = 1002
=- 20 10° mH0/(m’joh ")’
P. S,,
He, 25
5T G T 100
=- 25 10° mH0/(m’jsh )’

SAP1C: SP1+ Sac, Sac P AC

Sac = Sapc - Se,
[- 20- (- 25]x 10°
0.5 10 ° mH.0/(m® jah *)?
(1) P G
(Sac+ Sewo + Seo)G'= Ha- Ha+ He,
Seo= (Ho- Hs)/Géo= (25 15)/100°
=1.8 10° mH:0/(m’> h ")’
(He- Ho)/ (Ge+ Gu)®= (40- 15)/ 160°
0.588 10 ° mH.O/(m’- h ")*

SCH D
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: (0. 0005+ 0. 00058+ 0.001)G’= 20- 15+ 25

G= Gac= 30/0.00209= 119. 9/ h

K H ,
_ 90 _
Ge= T2 119.9= 67.4t/h
Gi= L& 119.9= 52.5t/h
160 ' :
CD BD AH co AH o

AH o = SeioG* = 0.000586< 119.9° = 8. 43 mH-0
AHeo = Ss0G°= 0.00x 119.9°= 14.38 mH:O
Ho= Hes+ AHeo= 15+ 14. 38= 29.38 mH:0
Hc= Ho+ AH o= 29. 38+ 8.43= 37.81 mH:0
(2) P: P G  Gac, Geo
(Sac+ Scip + Sen)G' = Ha- He
(0. 0005 + 0.000586+ 0.001)G’ = 20- 15

_ _ _ S
G= Gac= Geo = 0.00209 — 49.0t/h
- 20 _
Gk = 160° 49= 27.6t/h
_ (0 _
Gn = _X160 49= 21.4t/h

AHeo = SeoG = 0.001x 49 = 2.4 mH:0
AH o = ScioG’ = 0.000586< 49° = 1.4 mH:0
Ho= He+ AHeo = 15+ 2. 4= 17.4mH:0
Hc= Ho+ AHw = 17.4+ 1.4= 18.8 mH:0
: . P ,
100 t/ h 119.9t/ h,C D
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2
, (
) : 1 2
1 , ,
, , 3
4
, 1.5—
2. 0m ,
D~ 32mm, Dnx 50mm, D~ 20mm, Dn 25mm
2. 37
Ve = aAtVs= 0.0006« 75 Vs= 0.045Vs L (2.31)
Vo (

L3
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At——
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a_
Vs
1000w

2.2 :

16
Li—

82

( 20

,o= 0.0006L/(m’

L
Vs
(2. 31)
T 905, 1—12
0. 35—5. 35m°,
] H p

Z, + g—g*’+ (2- 5)< Hp< 40 m

te< 100

y M
po/ pg(

Zi

2. 38

)

95 ), At

1—

(2.32)



2.2 1kW

L)

(L/KW)

M-132

(60)

(60)
( 51
( 71)

8.6
11.2
16.1
9. 46
4.0
5. 16

0.43
12.0

418 1000

416 1000
528 1000

526 1000
624 1000

624 1000

45

o o o N~ O

RSL 250-7/ 95-A
SH, DZ, SZ
RSD, RSG, RSZ

(LH )

16
46

© 0P N O
o

13.8

83



Po/ pg= Hy;
Ppo/pg< Ho,

. 84-

2. 38

Zp



po/pg

: h
2.39
OP
Zo, h
y O Hy> Hos
yhPO
Zn( Z»)
Oy Zp
H o< Zp1
( )

2.39



86-

2.40

2.40



2.41

87-



88-

2.42



89-



90-

2.43

2.43,



2. 44

91.



2.45

92.

, 10—

, 14—



2. 46

12,

pr—p>

2.45

10,
2.45

11,



2.46

Vi
V2 Vs (
2. 47)

(

, 1—2 /h ),
PV = C (2.33)

V_ ) m31
P_ )
C_



2. 47

P,
(Vi+ V2); P2,
V2 (2.33),
Pi(Vi+ V2) = P:V2
_ P.V. 1 3
V.= P,- P._ P, - 1V1 m (234)
P
P (P2- P1)
, P2/ P ,
V1
( )
, V1 4% ,
( 0. 5% —1% )

95.



Vi 2% —3%
( 2% )

Va
Vs
Vs= (0.1—0.3) (Vi + V)
, V= Vit Vot Vs,

m Im :

(1) ;

(2) ;

(3)

2.48
1
3 4

5

96-

3

(2.35)



11—
14—

, 4— 5—
9— , 10—
, 13—
, 16—
6 ,
2. 49
8 ,
16 ,

97-



10
2.48

2.50

, (D)
hg; (2)
ho

2. 49

Z;(3)

2. 50



(1)

(2)

(3)

(1)

(2)

(3)

2.51



0. 7m

100-

Va:

V2

0. 4V,

10

V1
Va(

Vs,



0. 2( V2t Vs3) m’

(2.21)

5%

P

Sn

n= 60f(1-

, Hz,

0. 3—0.4m

Sw)/P
. r/min;

2.49

50Hz

(2.36)

101-



0. 5—400Hz
, 14—11200r/ min
2. 52
: , (
) ' ’ (4_
20mA) : (
0.5—50Hz ) ,
2.52
| 2.53
’ ) Bl y
’ GB y N1
N2z, B, AB:B:C
’ 6_7 ’

102-



2. 53

2.54

30%

1000

1—2

I KW
10kw

103-



]2

1—
4—
8—
2. 55
)
9

104-

J1



, 10—

105-



Q= KFAt= KF

InM
At
Q— (kJ'h);
K — (kY (m* h-
F— (m’);

Atd = Atx

));

(3.1)



At—— (

Ata, Atx
()
(3.1) :
( )
Atx, At
( )
At ,
Q= eWixAtza = &aWalAtz
&, Ed
Wx, Wq
(kI (h-));
Atzd
()
3.1
Atza = tig - ton
Wi = CxGx
Wa = CaGu
& = (tzg - ton)/(tig- ton)
€ = (tig - tin)/(tig- ton)
tig tn ( )
tzg ton (
()
Gx
1988 9

, Ata,

(3.2

(3.3)
(3.4)
(3.9)
(3.6)
(3.7)

- 107-



3.1

3.1(a),G= Gi  (b),Ge= Gu(t/h):
Gu

3.1(a), Ge= Gs; (b), Ge= Gz(t/ h);
Cx, Ca—

(kd/ (kg K))

(3.2) €
; 1
(3.6) (3.7),¢
, €
, € <1.0
F , F=oo ,e=10
3.1 ,0ots Otx

- 108-



6td = Atzd = Atx
6tx = Atzd - Atd

Q = Wd i05'[x = Wx |°6td

6tx = Q/ Wd
6td = Q/ Wx

Ata = Atz - Q/ W
Atx = Atzd - Q/ Wx

(3.13) (3.14) (3.1)
n A= Q/Wq) "7 KE Wx
Atzd' Q/Wx B Wx Wd
w= KF/Wx
W .
ex W Wx _ 1 _ Atzd - O/Wx
P @y, T At - QI W
_ W, 1 1 Wi
Atza = Atz joEXPW W 1+ W~ W, XPw -
1- exp wd 1
Q: L Mex . W, g Wi Atzq
P9,

(3-2) :

(3.8
(3.9)

(3.10)

(3.11)
(3.12)

(3.13)
(3. 14)

(3. 15)

109-



(3. 16) , €

At

At = At - aatx - bétd

a b
, b , b= 0. 65;
a= 0.35
a= 0.425—0.55
a= 0.65
(3.17) At (
), a=0.5b=0.5
(3.17) (3.1) At
( : £ &)
€= L < €
al:, pse L
Wd
£ (3.16) ,
e =1, £> ¢,
: , , 3
, e¢=1
,(3.17) £
£ :
) : 6%

(3.16)

(3.17)

(3.18)

TI
I
8



( - -
- ),
, Wa= o0 | €
£ = b+1JJu) (3.19)
, At : b
=0.5 : €n
6= oo 1u 7 (3. 20)
1+ u
w— ,
U
Gu, Gr, U= Gn/ Gug
, u= 0,
& = 1 T (3.21)
0.5+ a
( ), . (
)
w
W= GWITWI2/ W, (3.22)
W w— ;
W1, W2, Wi

, Wi= Wi/ Wi, W=
WZ/WZI, Wx = Wx/ WX'
111.



m: M2

- ,m:= 0.33- 0.5 m2= 0. 33-

0.5 , _ M
= m.= 0.5, (3.22)
W= Wa/ W (3.23)
= K'F/ wiw: (3.24)
= L (3.25)
y ;
L— (m)
y ]
W1 W2 ,
(3.24) (3.18) , _
y E
£= 1 —< 1 (3.26)
W, 1 W
0.35y, + 0.65+ W
3.2 _ e
W x, W
(3.26) 3.2 , W, Wa
! 81 (3.2)
B Q 3.2 =

112.



2. 03, Wx/Wqs= 0.75
e= 0.716

(3.22) m:i= 0, m.= 0. 33
- 0.5

m:= 0. 12- 0. 20: mz= 3.2 i &
0.33- 0.5 FWs We, )
w= QT IW, (3.27)
Q= Qu/ Qi
Ws= Ws/ W:
B—— , B= 0.17- 0.37
[ — I | — Of: Ol'q
= tn
2
o td- th ot -t
ottt ot -t (3.28)
-t
2
te, th ( );
tp ( )
tn ( ),

113-



, g

(kg/ (m*- h)),q
1 ), o= KF/A(A
= ﬁ/ﬂ
- A A
& =
Q=
Q=
ASHRAE
3.3 G< 1.0
3.4 G> 1.0
3.3 3.4
G
Q (
)
ty=
Q0 1,2,3,4

114-

(
,m?),
- & w= = (3.29)
Cg Cg
L (3.30)
0.5+ %
q
W &
(3.2)
SnWs( tg - tn)
, At:«= const,
—Ws= &G (3.31)

3.3 0<G<100% QG



10, 20, 30, 40

3.3, 1,
0%
5% ; 50% 10% ;
: 30%:; 10%
50% 1,234
10%, 18%, 25%, 33%; 20%
69%,50%, 40% 32%,
68% ,
3.4 0<G<160% QG
160%
10 ) 105% : 2(
110%:; 4( 40 ) 125%
1( 10 ) 300%

At'= 10 ,
20%
50%
1,2,3,4

31%, 50% , 60%

3.4,

I
20

115-



110%

to
to , o, to
< {9 G ) th= to, tr=
to ) {o
(3.30) q g ,
) & )
: 3.3 3.4,
30 , + 20%
( 80% 120%) + 10%
tn
= 18 , ,
16 ,

116-



Q= gt~ tw) (3.32)

Q— (W);
tw ( );
Qv 1 (W/ )
(3.31) (3.32) :
_ (aWstd/qv) + tu
t, = (W) + 1 (3.33)
(3.33) tg tw ,
t, G(Ws)
3.1 3.5 3.6
tw: = 9 y 813 ’
1m’ 0.5 ,
52.3W/m?*(45kcal/ m*h),
1 o 1.94W/(m’- )
(1.67kcal/ m°h ) te= 75 ,
3.5
3.5 , 5 : :
! 11 21 31 415

, 09=g9g'= 2 25kg/(m2- h)
- 117



118



te= 75

3.6

: tr= 55 At= 20

3.2kg/ (m*- h), 5. 4kg/ (m’
h)

19.9 20.2

1, 2, 3

0.35kg/(m*- h), 0. 7kg/

(m®- h) 1.6kg/(m”- h)

4.4 ,11.3 17.5

(tw: tw=- 9 ) ,

: xm 1l ;
xn 1
tw> tw
(3.30) , tw=t= 18 , =0,
= 0, &=0, (3.33 t.= 18 tw
: 3.7
: 3.7 :
( 3.1 ), ,

119-



, 3.7
3.7
X= 2- 3;
x=0.2- 0.5
10
20

120-

20

tw= tn
tw=+5

2—3
0.2—0.5

tw

tw



; 10
, 0.5
tn (3.33)
( )
tw= - 18
4.2kg/ (m’- h) 3.2
- 18 60/ 45
18 tw= - 4.1 (
), 3. 7kg/ (m*- h),
x= 0. 89, 47.0/36.6
18 (tw= - 4.1 )
: x=2.3
17.6 , 18.1 , 18.8 , 19.4
20.1 2.5
x= 0.26 15.9 ,14.0 ,12.3
10.7 9.1

, 6.8

121.



122.



x= 1.0, x= 0.89

Xri,
Xri = tnil tap (3.34)
Xri= 1, )
: Xri> 1,

Xri< 1,

123-



124.



125.



3.3 3.8

3.3 3.8 3.1 3.6
, 1—5
11.25kg/ h, 2. 25
kg/(m*- h),
. =75
G= 15. 75kg/h x= 1.4,
3.15kg/ (m*- h) ,12
4.4 11.3 8.5 13.6
4.1 2.3 4,5 19.9 ,20.2
20.0 20.7 0.1 0.5 15 ,
15.8 12.2
Xri , 1 yxrn 0.3 0.53, 5 , Xr5
1.37 1.28 6.25 (
70.3kg/ h), 14.1kg/ (m’*- h)
15 6.0 ,

126-



1—

(m?

3.3,

3.8

g= 3.15kg/ (m2- h)(tg= 75 ), 2—

h) (tg= 75 ),3—
g= 6.0kg/ (m? h)(tg= 92

18

g= 14. lkg/

g= 14. 1kg/ (m2- h) (tg= 66.6 ), 4—

)

262W ( 225k cal/ h)
127-



70.3k g/ h( 14.1kg/(m*- h))

1—5 15.7 ,17.2 ,18.5 ,18.9
19.0 17.9
tt= 66.6 th= 63.4 Q= 261w
(224kcal/ h)
18 262\ ,
: (
) : ,
3.0
, 15—30kW
1.4 2.74 ,  41—82kW
(kW - h)
1986
( ) ;
WTF (
95/ 70 ) (WTF)sa 0.6
WTF = 0.6(WTF)u (3.35)

128-



WTF

WTF= Y Q/N, (3.36)
Y Q— (kW- hid),
Y Q= 24qA (3.37)
gn (kW/m’);
A— (m°)
N (KW h/d), N,
Ng= 24N (3.38)
N— (kw)
(WTF)u
74
(WTF)n= ZOZ - (3.39)
> L— (m);
o
R(mmH:0/ m) :
> L=< 500m a= 0.0115
500m< ¥ L < 1000m  a= 0.0092
S L> 1000m a= 0.0069
0.6(WTF)u 3.4

3.4 0.6(WTF)un

y L (m) 200 | 400 | 600 | 800 | 1000 | 1200 | 1400 | 1600

0.6(WTF)wn | 274 | 240 | 229 | 209 | 200 | 195 | 189 | 179

2 L (m) 1800 | 2000 | 2200 | 2400 | 2600 | 2800 | 3000

0.6(WTF)mn 169 | 161 | 153 | 146 | 140 | 134 | 129

129-



9.0 :

32.1kW, 40kW,
36m, 270t/ h :
2. ,
(
) ) )’
3.9 : (a)
, (b)
3.3, (a) (b) g= 14. 1kg/
(m®: h) : (b,
, tw=-09 ,1 5 15.7
19.0 , 3.3 , tp = 17.9 ,
(a) (b)
66.6 75 : 1
18 : 5 24
tp= 21.5

130-



3.9 (g= 14.1kg/ (m?* h))
(a)
(b)

Q= 294. 4W ( 253.1kcal/ h), Q'= 262W
12.5% ,
3.3 , ,
30kg/ h( 6. Okg/ (m*-
h), x= 2.67) (1 )
18 92 Q= 338.4
W (291kcal/ h), 29.3%,

131-



(1) 3.1 3.2,

( X 1)
y tw= tV\5= = 9 y
te=tg= 75 , th= th= 55
, , tr= 57.5 ,
2.5 262W ( 225kcal/ h)
230W (197.8kcal/ h), 12.5%
, ( )
( ) s
(
).
5—10%,
(2) ,

0.35—0.45W/m’ :
132.



0.6—0.9W/ m’

(3)

q—
(100%):
Qi_
(KW- h/m?);
Qus
(kW- h/m?);
j —

Qi, Qus

11.25kg/ h),
31.9%;
6.3%

6kg/ (m”- h)),

0.5—0.6W/m°

0.45W/m°
(11—33) %,

0. 024211 (Qi- Qu)

j le

18

30.0kg/ h(

92 (

100%

(3. 40)

18 ),
133-



61% : )

( ); :
(4)
: 10% |,
23.2%, ,
, 8—16 ,
10—18
2
? , :
( )
35% , 0.5—0.7
( : 1.0—
1.5 m?)
: , 0.3—
0.5
4.
5.

134-



(18 )
(Ws)

(3.33)
tu

Qn = Ws(tg =

(3.41) (3.31)

tn)

to

(3.32)

(3. 41)
. 135.



Qn = SnWs( tg - tn)

Q= g(ti- tw)
(3.20) (3.27) (3.28)

. = 1
0.5+ u 1
1+ u W
Wn = WaQ B W
Wi = tg - tn
Tt -
Q_ tg‘ tw
", 0.5(tg+ th- 2t 0.5+ u ti- ti
th- twt B/(1+ B) +
Qn 1+ u W
th - tw
Q= L
(3.42), ,
th - t 1/(1+ B)
tg = to+ —(tg+ th- 2t) o,
th -t
(0.5+ u)(tg - tﬁ)x th - tw
(1+ u)G th - tu

(3.43)
th = tg - Qn/Ws: tg - Qn/Ws

oot 1/(1+ B)
th = to + —(tg+ th- 2 =
t -t
(0.5+ u)(td - ) to- tu
(1+ uG th - tw
(3.43) (3.44)
. ] tn y

136-

(3.31)
(3.32)

(3.20)

(3.27)

(3.28)

(3. 42)

(3.43)

(3.44)



tg th, G u

(3.43) (3.44) tn th

(3.43) (3.44)

ty + t
tp = h=tn+%(tg'+tr:-

2

(3.45) tw
tp )
(
) ,
T1g u
3.10
, Guyg
, Gn

Gn/ Gug )

tw

th

24)

- tw

1/(1+ B)
tw
(3.45)
t
, 2—
u =
Gug

137-



CGlg(tlg - tZQ) = CGh(tZg - ch)

U= G Gy = He—1m
t29 - i
tlg: t2g+ U(tZg' tzh) (3 46)
T ( );
t2g, ton « );
C_
(3.46) tg, tzn (3.43), (3.44)
tg,th ) u ’
ot -t
U= 7 i (3.47)
g 2h
tag, t2n U, (3.46)
19
, u=20 :
_ 1,., . oot tw YTttt tw
to= ot S (te+ - 26) 3, Y6 w349
_ 1,., ., oot tw MR td- t te-
th= tat 2(tg+ th- 2tn) ti- t,) - ZG tio ) (349)
K=K’ (3.48) (3.49) B= 0,
_ 1,., . R O tg- th to- tw
tg— tn+ 2(tg+th' 2tn) tr:' tw' + ZG trq' tw, (350)
B N (T S Pl (A L O
th= tnt 2(t9+ th 2tn) t- t) ZG t- t) (351)

138-



, , G=
G', G=1, tg, tn,
(3.52), (3.53)
_ 1,., . oot tw YTttt tw
to= ot S (te+ - 26) 3, T, - w (359
1. ot tw T td- td te-
th= ta+ E(tg+ tn- 2tn) T - 92 : Y (3.53)
3.1 tu= - 26
tn= 18 , , B= 0.35
1 tg= 95 ,th= 70 ;
(1)
(2) ) tllg:
130 ti= tZ= 70
ti= 95
(1) (3.52), (3.53),
_ 18- tw " 18- tw
ty= 18+ 64.5 Ve + 12.5 Ve
_ 18- tu *" 18- tw
th= 18+ 64.5 T - 12.5 T
tW, tg th
(2) :
u= (130- 95)/(95- 70) = 1.4
(3.46)

tlg = tg + 14)( (tg - th)
139.



(+5 2 tu=- 26 )

tw () |- 26|- 23|- 20|- 15|- 10| -5| 0 |+5

95/ 70 ty | 95 | 90.9(86.7|79.5|72.1|64.4|56.4(47.9

th | 70 [ 67.6]|65.1| 60.8| 56.2 | 51. 46. 2 |40.5

130/ 95/ 70 tg |130 [123.5]116.9 (105.8 [ 94.4 | 82.7 | 70. 7 |58. 2

tg | 95 [90.9(86.7|79.5|72.1|64.4(56.4(47.9

th | 70 [ 67.6]65.1|60.8|56.2|51.4|46.2(40.5

130/ 70 ty [130 [122.4 [114.7 [102.0 | 89.3 | 76.6 | 63.8|51.1

th | 70 [ 66.5(62.9|57.0|51.1]|45.2|39.3(33.4

G=1 (3.50) (3.51),
h - tw
tg= to+ (tg- t1) -t (3.54)
tn = tw
th= to+ (th- ti) ﬁ (3.55)
3.2 ,
130/ 70 : 130/

70

18 - tw

to= 18+ (130- 18) 7. o =

18 + 2.545(18- tu)

140-



3.11

1—130/ 95/ 70 , ; 2—95/ 70
:130/95/70 , ;. 3—130/ 95/ 70 95/
70
B 18- tw _
th= 18+ (70- 18) 18+ 26 - 18 + 1.182(18- tw)
, : 130/ 70
18- tw " 18 - tw
te = 18+ 64.58T +308T
18- tw " 18- tw
th = 18+ 64.5—44 - 30 —44
(+5 =2tws- 26 ) :
, 3.5 3.6 3.12

141



3.12
——130/ 70 ; —130/70
; -+ — -130/ 70

(1) tw ,

- Q_ _ - la-
Q_ QI_ - [ _ ! (356)

(2) 3.12 , ,

142.



th

tw

tgz t9,1

143-



th - tw
0.5(ts - ti) vt

G= 1/ ( 1+ B) (3 57)

tg- to- 0.5(tg + th - 2tn) H
- te 7Y
th= 2ti- tg + (t§+ ti- 2t) vt (3.58)
, 3.1 :
95/ 70 , , :
tw= + 5 ;
7.21%, G= 0.0727, th= 24.7
: : G= 0. 153,
th= 16.1 te= + 18 (3.58) th
<0 , te= tg= 95
tw= + 18 tw= tn, )
te= 18 95 ,

144.



G= 100% , G= 80%
H»= 100%, 64%

G= 60%,
36% ;

100%, 51.2% 21.6%

G= 100% G= 75%:;

56% 42%

3.3

te= 130 ,ti= 70

H»

100% , 75%

, 3.12
G= 100%:;
, 75%,
- 15 - 26
, G= 75%
_ 18- tw "
t = 18+ 82 —44

15 - 26
+ 5 -
G= 75%
G= 100%,
+5

. 0.5x 60 18- tw

0.75 44

15

(

15

)

145-

3.6



18- tw " 0.5 60 18- tu
=18+ 82 7y " T 0.75 ag ()

3.6
tw( ) | 26 - 23[- 20| - 15|- 10|- 5| 0 |+ 5
() 130(123. 8[117.5/106.8| 95.8 |84.4]|72.6(60. 1
9
G=1
) 701 67.9] 65.7| 61.8| 57.6|53.1(48.0(42. 4
h
() 130/123. 8|117.5]114.3[102. 1 |89. 6(76. 7|63. 1
tg
701 67.9] 65.7| 54.3| 51.2 |47.8|44.0(39.4
th( )
G 1.0 0.75
tw : 3.6,
3.12
3.12 , *+5 =2tw=>- 15 :
4.
tn‘ tw
n= 24—  (h/d) (3.59)
tn = tw
n— (h/d):
t (

146-



, 24

5.
, 95/
70
70—80 18
( ) 47—70W/ m* (40
- 60kcal/ (m*- h)) ( ),
0.35—0.4 /m°’ ( 813)
: 70—93 W/ m’
(60- 80kcal/ (m®- h)), 0.5—0.7 /m’
m, L :
m = C]g/qs (3 60)
L= folfs (3.61)

147-



L Qj
. 148

QlJ = QzJ = Q3J

3= qv(tr"l - tvxf)
1

Qu = K'F(t + ti-

Qau = cG'(tg - tn)

mLQ!

2!)



oo P (3.63)

Qi= Qi= ¢,
Ql/ Ql’ = Qz/ Qz’ = Qs/ Qe',

(3.63)

1/(1+ B) Y, )
tg= tnt %(tﬁth’ 2tn ) nt”_ - + Ln(ti- %) k- b

-t 2 -t

(3. 64)
3 a,., ., tw P Ln(tg- th) ta- tw
=tk T (ti+ - 2th) ntn- t ) 2 th-

(3.65)

n= ﬁq (3. 66)

: 95/70

( 813 ) Qo=

55W/m? f= 0.4 [m’ Q= 70W/ m’,f 4=

0.5 /m° m= /= 70/55= 1.3,L=fo/fs= 0.5/0.4= 1.2

3.7 , tw=- 9 :
95/70 75/55

149-



3.7

-9(-7|-5-3-1 1 3 5 18
tw( )
() 95 90.2185.4]180.5(75.5(170.4|165.3|60.0( 18
g
() 70 67.2(64.1(61.0(57.9(64.7(51.4(47.9| 18
th
() 75 71.0167.3]163.9(60.5(156.9|153.3|49.6( 18
tg
W) 55 53.0151.1149.1(47.1(144.9|142.7140.4( 18
h
6.
(
3.13 ,
tlg tlh,
W
t29 t2h1
W 3.13
y 1— , 2—
3—
fig - Tin
Q: W1 ' ,
tlg - 1h

150-



Q= &Wui, T 1
Q= W: t2g, - tzr:
tzg - tan
e— : (3.18)
e = 1
W 1
a W4 t b+ W
’ tlg
tag, Ot1= tig- tan
Ota= tag- ton Wi< Wo, (3.18)
Wx= Wi, Wae= W2
_ t2g’1 = t2lq W2 tn = tw
tlg - tZQ + W2 Wle- 1 tr,| _ th (3 67)
_ fg - twn Wi fn - tw
tin = ton + Ws Wae 1 bt (3.68)
(3.67) (3.68) , t2g, ton
t]-,g) tllh; t2’g1 t2'h
Wi Wa( G, G2) ,
tw
, Wi= W= 1, (3.67)
(3.68)
—_ ' M tn - tw
tlg - t2g + (t29 - t'2h) ng 1 tr’. _ tv\f (3 69)
' ’ Wl tn = tw
tin = ton + (tg - tin) Wae 1 ot (3.70)
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tig= tp+

. (3.67) (3.68) ,

(3.49) ,

(3.67) (3.698) ,
tig = tin+ Q/Wi, tin= tiy- Q/W:

t:L'g' t].’h_ t2'g' t2’h tn' tw

W€ 2W: th- tw

_ i tllg' tl’h t2’g' tq’h tn' tw
o=t Tem W T awe b b
. (3.71) (3.72)

tlrg' tllh t2'g' t2,h tn' tw

bo= % "Wt 2 f-
fin= toot %_ 1 tl'i;\/ltllh_ '[z'g-2 t2h tt:: ::::
f2p ,
t = f2g + ton
2
(3.45)
(3.71),(3.72),(3.73) (3.74) ,
£, £ : tw

152-

(3.71)

(3.72)

(3.73)

(3.74)



tlg y tlh

18
Q= Q= Qs
= = G
Q=
Gk, o, G
; 3.14
Q: Qe Q—
( 3.14),

tg = to1 = tgz, th= thi= tn

o = tor = to2

(3.75)

(3.76)
153.



tg’l, th'1 ( ) ;

toy th— ( );
tgl, th ( )
tat tm- 26 7 tget te- 2
= i+ t- 2t Tttt - 21
th = tht = the (3.77)

_ Gl(tgl - thl) _ GZ(th = thz) _ G(tg = th)
®= Gi(th- th) T G- th) | G'(t - th)

G= Gi= G = Q/ Lo L (3.78)
tg' th
G1, G2 (kg/h)

e Ap! Ap} Ap'
Api, Ap} (Pa);
Ap:, Ap- (Pa);
Ap, Ap' —
(Pa)
Apa, Ap:,

Api = Apat Ap:i, Api1= Aa+ Apa
Apz = Apaet Ap:z2, Ap2= Ape+ Apz

154-



Apz= g(pr - ps)hy,  Apa= g(pn-
Apz= g(p - ps)hz, Apz= g(p-
Apzlz ADZZZ Dﬂ' Og
Api~ Apk  pi- P
hi, h:
Po, pr——
pg', ph'_
(kg/m?)
Dh' Dg _ tg' th
oh- ps tg -t
Apzl _ ADZZ _ tg - th
Api Api 4 -t
Apda = Apw = Apa = ApPe =
G- [CIN CTR to - tn
S G G - th
(3.82) (3.78),
G'= Q
G= Q1/3_ u v
- B trq = tW’
G( G, G) (3.82)
tn

pg)hl
pg)hz

(3. 80)

(m);
(kg/ m°);

(3.81)

0

(3.82)

(3.83)

(3-83)
(3.82) (3.83)
155.



c. DAp _  Dpe+ Ap.  h-

g
F

Ap' —  Api+ Ap: Ap: tg - tn
(3.74) (3.75) :
’ G( GlyGZ)
(3.82) (3.83), :
Ape  Ap:_ Apgt Ap: tg- th G (3. 84)
Api~  Ap:  Api+ Ap: o td- th '
(3.84) (3.48) (3.49) ,
(3.85), (3.86) (3.83)
[ PR (O CER
G w7 ouw (3.83)
t- ta 1/ (1+ B) t- tu 2/3
fo= Tt %(t“ W 2W) ¥ %(tg" %)
(3.85)
tn' tW v{1+B) tn' tw 23
th= tat+ _;(tg'+ th- 2) L - %(tg’- t) Lo
(3.86)

(3.83) (3.85) (3.86) ,
156.



70

64.8/38.0
60.1/42. 4

, G= 1)

tw=+5
G= 0.67(

130/
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3.15

1+ B

. tgt ti- 2t tit th- 2t
Q= Q= &= 7 o t+ ti- 2t
Q1/(1+ B) Lo+ ti- 2t i+ th- 2t
CtE+ ot - 2t Tt + th - 2ts
_tg+tl‘ 2th - ti- th + 2tn
Cote+ td - 2th - ti- th+ 2t
1/(1+ B) _ tg' th
Q S ote- W (3.87)
t1
Q= Qu= Gtg' th
te - th
Q_ th- tn
G tg- th
(3.87) 3.15
G= QB/(1+B)
to - tw HOTF
G= Ny (3.88)
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1., o - th
Z;('[g- th)Q = 2QB/(1+hB)Q

2—1G(tg' ] té)Q _ %(tg' ) th') Q1/(1+ B) (3 89)
(3.89) (3.48) (3.49)
t- ty B/(1+ B)
G= Lo
-t 1/(1+ B)
tg= tn+ (tg- t7) vt (3.90)
to- t 1/( 1+ B)
th= ot (8- 8) (3.91)
(3.88),(3.90) (3.91)
1.
3.2 , tw= - 4.1 , G
= 0.89 3.3 130/ 70 ,
tw= 5 |, 63. 4/
39.1 , G=0.73 , )
2. ,

159-
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20%

hnq'

hl’lS

1+ Z a (hg- he)+ 1+ Z a (hm- hi)

(3.92)

161-



: 1] :
’ hgr,
(
5kPa) , :
: (hng= his)
| | j
: hos Z a :
j
, : 1+ Za (he- hes)
3.8 , )
, , 6—
2mwW -, : 3.5M Pa( ) 435
192.5 ; 50—100M W,
9.0M Pa, 53 , 231.7 ; 200M W,
13.0M Pa, 535 300M W,
X 16.5M Pa, 550
200.2 :

162-
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( ) 1 b
, : 150
, 0.4—0.6M Pa( )
150—250 , 0.8—
1.3M Pa( ), :
250 :
0.4—1.5MPa( ) :
2132.9—1945.2kJ/ (kg K) : ,
( ) 4.187kJ/ (kg- K),
2. 1kJ/ (kg- K) : : :
, (
) 1%, 30% —40%,

, 30% —40% ,

164-



: 0. 4M Pa( ) (

143.6 ) 2737.6kJ/ kg, 1.5M Pa (
198.3 ) 2789. 9k J/ kg, 1.1MPa,
1.9% 0.4M Pa, 200
2860. 4k J/ kg, 56.4
4.5%; 1.5M Pa, 300
3038.9k J/ kg, 101.7 8.9% |
(130—300 ), ,
10%, (
) :
1.
(1)
G= 30 kg/ h (3.93)
G— (kg/ h);
Q— (W);
— (kI Kg)
Q ,

165-



 (dp/dt)=«= 3- 4kPa/s;
: (dp/dt)a= 10- 30kPa/s;
: (dp/dt)a= 40- 50kPals

(dp/dt).a= (0.002- 0.005)p  (kPa/s) (3.94)

(dp/ d1) = (kPal's);
p— (kPa)
B(kg/h) , p
) DQ( )1
3.16
1) pS
0. 5MPa
’ 3.16
0.8M Pa :
(2)

- 166-



(

3.17)

abc

;ph—

167-



(

3.18)

168-

10



1— 2— 3— L 4— 5— 6—
7— 8— 9— 10— 11—
, 0.5MPa( ) 2747 .4kJI
kg, 0.2MPa( ) ,
0.2MPa 2706. 3kJ/ kg,
41. 1kJ/ kg,
2.1kJ (kg- K), At= 41.1/2. 1=
19.57 = 20 0.5MPa 0.2
MPa , 151.84 140.23
(0.2MPa 120.23 )
, 1. IMPa( ) 0.98 ,
0.42MPa( ) 1.0
0. 42M Pa, ;
0. 42M Pa, ( 0.98)

169-



(2.11)
AH = SG Pa
S=6.8% 10 ° KO.ZS(O:S.JES )0 poy (m® joh 1y?
AH — (Pa);
G— (m’/h);
S— (Pa/(m*- h 1)?);
K— (m), 0. 0002m;
| — (m);
la (m),
d— (m);
p— (kg/m’), 0.18- 1.5MPa
, 1.0—7.6kg/m’
S : S
. (2.11) |
( ) v P,

. 170



3.4

3.19

1
4
7
( 8),
3.19
2— , 3— 4—
7— , 8—
0.3MPa( ) 400
0.3MPa( ) ,
10 ,

171.



he= 3275. 2kJ/ kg,
he= 2724.7+ 2. ¥ 10= 2745.7kJ kg,
hs= 561. 5kJ/ kg
kg ms kg,

hq + hims = hh(l + ms) (3 95)
3275.2 + 561.5ms= 2745. 7(1+ ms)

ms = 0. 242kg/ kg
kg 0. 242kg :

172.



tws

aQ, 3,

T

tm-Zd. ZB(tWST.

g + thn

Q.= ZO | Z Ui( tws) «

Qr = 1 16SCGT(th - th'[)x 10

B/ (1+ B)
tn'l' - tWST

G=

_[ _ 1” [1] _[_ i

(3.96)

(3.97)
(3.98)

(3.99)

173



tws,

tws = tw + Qs/ S« (3. 100)
Qs kJ (m*- d);
S« kI (m* d- )
oB, P , tn, tg, th, tws, Q
(3.96) (3.97) j
; | 4- 5
30 j=
, 5 : 5 =0,
(- 1) T, tn, ta, tn, tws, Q : 4 i
=1 (t- D= (t- 1), 4 5 ;
, 1 =4, (- )= (1- 4), 5 4
, =01 .,4, 1, (t-1,(t 2), ,(t-
4 5 (3.96) (3.97) 1
+ Potws + Patwss + + Patws
+ Ublws + Yntws + + Utws
6 , i 5 6 i= 0,
5 i= 1, 2 i1=4, 1 : (3.96)
(3.97) 2
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tg + th

+
- tg th +

bo =00 755 2 ¥ 2
+ PBotwss + Pitwss + + Batwe
+ Ubtwss + UYhtws + + htwe
30 : 30 1= 0, 29 = 1,
26 = 4, (3.96) (3.97) 26
fo g ettt b to+ t
2w 2 2
+ Potwso + Patweo + + Patwss
+ Ubtwsso + Uhtwso + + Untwes
26 : Oo- O, Bo- Pa, o= & Ub- U,
, (
5 ) , » O B Y
3.9
3.9
o | 0.1831 | PBo | 0.2652 0 1. 462 g | - 0.736
o | 0.0842 | B | 0.1552 1 |- 0221 g | - 0.260
@ | 0.0688 | B. | 0.1286 , |- 0.130 W | - 0.182
o | 0.0178 | Bs | 0.0575 3 0. 017 U | - 0.07
o | 0.0093 | B. | 0.0354 . |- 0.002 W | - 0.011
Q 10100/ d, tn , L x 1010
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tWS

(o, B,

Sk (
)  160—210kJ/(d- m*-
0.3 tn
a, B, P
(3.99)
aQ, B,

(3.96) —(3.99)
o B, .Y tws

G Q:

tws = Zl Vi( tws) «-

yi, r]i—
- 176-

i+ Z e i

Q
)
(3.96) (3.97) (3.98)
P
tne( tn=
tor, the,
4

tor, thr, Gr &

(3.101)



Yi, Ni

tWT

177-
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a, )
(2.11)

mH.O/ (m® jeh™ *)?

.m’/h:
’ mHZO

G AH ,

179-



4.1 :

4.1

4 , 50m,
1, 2, 3, 4 100m°/ h, 40, 30, 20,
10mH -0 4.1 , ,

180-



4.1

G AH S= AH/G
(m®/h) (mH20) 10 3(mH20/ (m* h %)?)
400 10 0. 063
300 10 0. 111
200 10 0.25
100 10 1. 00
1 100 40 4. 00
2 100 30 3. 00
3 100 20 2. 00
4 100 10 1. 00
4.2 4 3,2, 1
4.2
4
4
108 So=S +S +S +S + Sis= 0.063+ 0.111
, N + 0.25+ 1. 00+ 1.00= 2.424
(mH20/ (m® h™ H)?)
4
(m¥h) Gs= AHo/So= 50/2. 424 10 3= 144
4 = Ga/ Ga'= 144/ 100= 1. 44

181-



10 3 S2.4= AH 3/ G '?= 20/ 200°= 0. 5
(mH20/ (m®*- h"Y)?

34
10" 3
(mH20/ (m® h Y2

So=S +S +S + S4
= 0.063+ 0.111+ 0.25+ 0.5= 0. 924

(m®/h) |Go= AHo/So= 50/ 0. 924 10 %= 232

3 o= Go/ (Gd+ G¢)= 232/ (100+ 100) = 1. 16
3

S Ge= Gu= wGs= 1. 18 100= 116

m

10 3 S, 4= AH 2/ G "?= 30/ 300%= 0. 333
(mH0/ (m*- h™Y)?

2.3,4
10 3
(mH,O/ (m® h™ 1) ?)

So=S +S + 824
= 0.063+ 0.111+ 0.333= 0.507

(m*/h) |Ge= AHo/So= 50/ 0.50% 10 3= 314

o = Go/ (GZ2+ G+ G4)

2
= 314/ ( 100+ 100+ 100)= 1.04
2
( 3 h) G= G7= Gs= G,= 1.04 100= 104
m

182-



10 @ S1.a= AH 1/ G "?= 40/ 400%= 0. 25
(mH20/ (m® h H?)

1,2 3,4
10 °|So= S + Si4= 0.063+ 0.25= 0. 313
(mH-0/ (m* h H?)

(m°/h) Go= AHo/So= 50/0.313 10 *= 400

o= Gol/ (Gi'+ G2+ G3+ G)

1
= 400/ 400= 1.00
1
. Gi= mGr'= G= Gs= &= & 100= 100
(m°/h)
: TA
( ), :

183-



(1)
),
(2

. 184

4.2

4.2

lBl



)
(3) Xi,
Xi= g— i= 1,234,
— )
n—-— )
Gi— ,m’/h;
Gi— ,m’/ h
(4) X zd
2.
(1)
X zx A
A , 3 :
(2) A 1
, F-AL,
3 95% ,
(Grsl GA)
(3) F-A2, 2
1 XAa2= XA1
, 1
(4) 1
3,4

, Xza= Gal Ga'
Xzox = Gasl Gal, 3

1 XA1

XA1= O 95sz: O 95

Xa2

185-



(5) :

3.
(1) XA, XB, Xc, XbD,
(2) , F-D,
95% ,
Xo= 0.95xc= 0. 95x .«
(3) : F-C,F-B,F-A ,
D
(4) :
4,
F( ,
) D 1.0
( ) ,

TA

186-



(1)

DTM-C,

(2)

AH F-a1

F-Al

4.2),
( : )
( ) 3kPa
(TA
0. 5kPa)
4.2 A , 2
)
(
F-Al ( )
2 1 ( )
AH a2, AH Al( ), AH Foa1
AHea1= AHA2+ 0.3- AH ay a, - AH - ay - AH a1 mH:20
AH a2- al, AH a'l- aé 2 1
, mH:20; 0. 3mH:0 2 F-A2
AH Faz 1
Kv:
I 3 r 3
K. = 3. G (m/h) _ 1 G'(m/h) (4.1)
AH F.Al(mHzO) AH F-Al(kpa)
Kv S ,
) KV S Kv

187-



s= mH.O/ (m’ josh™ ") * (4. 2)
s= kPa/ (m° joh™ )2 (4.3)
( ),
Ko( S), K s
Ks- a1, 1 F-Al, ,
(3) 1 F-A1
A F-A, F-A1l
AH F a1 F-A1l (
)
F_A ] F_Al
) ) 1 )
1 F-A1
(4) 2 ,
F-A2, ,
, F-A, 1
(5) , 3 4
2
2
(1) ,
(2 D( ) F-D, D
(3) C,B.A F-C,F-B, F-A,

188-



, 0. 3mH:0,

(2) :

(1) ;
(2) : (
AH , ,
AH
(3) AHi= AH -
AHT, AH

189-



4.3 ,

4.3

G 2 o'
Soi(
Sk
190-



Sr2= Shk- S: mH20/(m’jsh )’ (4. 4)

S: bb' (
Fz),mH20/(m’- h")* S , S
F-
Sr21 Srao,
Ge, Ge2, AH F21
AH r2-, bb' AHw1  AH b2,

AH o1 = Sr21Gia+ S:Gii= AHroa+ S:Gia (4.5)
AH oo = Sr22Grze + S2Gez= AH ez + S:Ge- (4. 6)
AH wa= AH bb' -2,

AHra+ S:Gia= AHro+ S:Giee (4.7
AHF21, AH F22, G2a G222 , (4' 7)
S, (4 4) F2 Sro,
F2 Ks
1985 :

191.



(1)

4. 4 , 7 5
(
), :1,2,3, ,5 b, b, by
, Go, Goz, Gbs, , Gor,
; AH b1, AH v2, AH vz, |, AH b7

Hi,H2, Hs, , Hs;
DH,

4.4

G+ Gos- Gua= 0 (4.8

192.



),

AHvw. + AHw + AHw+ AH w + AH s -

(2)

Gu + Gos -
Ge + Guos -

G -
Gy -
AH
AH vz
AH b3
AH b1
AH v
AH b3
AH bs
AH s
AH b6
AH o7

4.4

GbZ =

Goi -
AH b + AH -
AHw + AHw + AHba + AHbs -
AH b + AHw + AHba + AH s -

n + + +

Sb:Gis

+

2
So2Go2 +

Sb3Gis
S Goe
Sis Gis
Sbe Gos
So7Ghr

(4. 10)

+ + + + +

(Z: -
(Zs -
(Zs -
(Z:-
(Z: -
(Z: -
(Zs -

14

[ 2(

b4

DHy,= 0

Z1)
Z2)
Z2)
Zs) - DH,
Z1)
Zs)
Z,)

b2, b, bs, b, br

DH,= 0
(4.9
DH,= 0
DH,= 0
(4.10)
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), 3 3
: 7 7
: 14
Go:  Gor 7 , AHb: AHw 4
(4.10) 14 : 14
2 ,
, (4.10) 7 3
Goz, Goz, Gis , 4
Gou=Gor= Gou+ Gzt Gis
Gos = Gos = Goz + Gos
(4.10),
SuGis + (Sba + Swr) (Gor + G2 + Gb3)2 - DHy= 0
S Ghz + (Sba + Si7) (Gor + Gr2 + Gb3)2
+ (S + Sue)(Gr2 + Gb3)2‘ DHy, = 0
SsGis + (Sba + Sw7) (Gor + G2 + Gb3)2
+ (S + Sw)(Gez+ Gw)’- DH,= 0
(4.11)

194.



(4.11) 14 14 3

3 ( Gu, Gbz, Ge3),
(4. 11)
2.
( )
(1)
, Gsi,
AH 5 (j ), S= AH/G?
Ss
FLB : (
) + 1. 0%
( )
(2)
(
) (
Ss) Sij
4.3

- 195-



20—25

4.3
n G

W/ m? k cal/ (m? h) kg/(m* h)
40—70 40—60 2.0—3.0
58—81 50—70 2.5-3.5
64—81 55—70 3.0—3.5
58—70 50— 60 2.5—3.0
47—76 40—65 2.0—3.5
64—87 55—75 3.0—4.0
81—105 70—90 3.5-4.5

116—140 100—120 5.0—6.0
93—116 80— 100 4.0—5.0

116—163 100— 140 5.0—7.0

: Si,
4. 4, (4.11) be, bs, bs, br
, Soa, Sbs, See  Sbr
, 4,3 ,
, b4, bs, be by
Gioa, G, Gie Gy , (4.11)
Siv1, Sivz, Sibs

196-



DH,- (Seu+ Sur)(Gu+ G+ Gis)’

S = G
_ DH,- (Sgut Swn)(Gum+ Guw+ Guws)®- (Sas+ Sus) (G + Gis) ?
SIbZ— GZ
b2
_ DHbp- (San+ Sar)(Gm+ G + Gins > . (Ses+ Su6) (G + Gis)?
Siw = >
Gibs
(4.12)
(3)
( : )
Si Sy (
) (4.11) (

197-



(4)

4.5 , 4
DH »= 50mH-0 ,
v 4 (
100m°/ h,
140m°/ h, Ge= 120m°/ h, Gs= 80m’/h, Gu= 60m°/ h

4.5

198-

1, 2,

, 12,

)
Ga =



(1) , 4.4
4.4
G AHs Ss
(m®/ h) (mH:0) (mH20/(m> h %?

1 140 40. 000 0.204% 10 °

2 120 32. 489 0.2256 10 2

3 80 27. 589 0.431% 10 °

4 60 23. 989 0. 6664 10 2

5 400 5. 000 0.3128 10 *

6 260 3.756 0.5558 10 *

7 140 2. 450 0.1250 10 °

8 60 1.800 0.5008 10 °

9 60 1. 800 0.5000 10 °

10 140 2. 450 0.1258 10 °

11 260 3.756 0.5558 10 *

12 400 5.000 0.3128 10 *

(2) , , (4. 12)

: 4.5

(3) , 1,2, 3, 4( )

, Sn= 0. 400& 10 °, S.= 0.300& 10 °, Si:=
0.2008 10 ° S.= 0.1008 10 ° Sa= 0.204% 10 °, Se=
0.2256 10 °,Se= 0.431% 10 ° Su= 0.6664 10 °,

(4.11) , :

4.6
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4.5

G AH S
(m®/h) (mH20) (mH0/(m® h %)?
1 100 40 0. 4008 10 °
2 100 30 0.3008 10 2
3 100 20 0.2008 10 2
4 100 10 0. 1008 10 2
5 400 5 0.312% 10 *
6 300 5 0.5558 10 *
7 200 5 0.1258 10 °
8 100 5 0.5008 10 °®
9 100 5 0.5008 10 3
10 200 5 0.1258 10 °
11 300 5 0.5556 10 *
12 400 5 0.312% 10 *
(4) : 4.6 , 1, 2, 3,
4 1 , S:= 0. 4000
x 10 ° Sa= 0.204% 10 °, :
1 , G:= 101. 956m°/ h , 1
: 2(
) 3( )1 GZ:
107. 960m°/ h, Gs= 104. 472m°/h 2,3
4 ( )
100m°/ h, :
(1)
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(2)

(3) :
2—3
(4)
( )
( )
(CCR )
(
)
1989
CCR
( )
(collection)
(calculation), (requlation),
“ CCR” , —

- 203:



| BM : ,

(1)

pi1,
piz, pia,

) Pii, Piz Pis

, pil,piz pi3 pi



4.6

Pii, Piz, Ps ,
Pit1, Pizz1 Pis 1, Pis 2, Piz 2
Pis. 2 (4 11) ) 5

Sa(Gii+ Gyi+ Gs1)?+ (Sio+ AS11)(Gri)®- DH,:1= 0
(S0 + AS21)(Gz1)? + S12(Gp1+ Gs1)?- (Sw+ AS11)(Gi1)?= 0
(Sso+ AS31)(Gs1)®- (Sw+ ASy1)(Gr1)?= 0

Su(Guz+ Goz2+ Gs2)®+ (Sw+ AS22)(Gu2)’- DHp2= 0
(Sz0+ 0S22)(Ga2)?+ S12(Goz+ Gs2)®- (Sw+ AS12)(Giz)’= 0

(4.13)
So1, Sz 1 1 2
ASi— ( ) :
So ;
Gi—
pu.1, Piz1, Pe.2 Pin2, Pi22, Pis 2 ,
ASi 1, ASiz2; Gi1,Giz DHop.1,DHyp.2 5
5 So1, S0, Sz0, S0 Sz

205-



M,
k= 2(M- N+ 1)- 1(

)
(
),
)
(2)
(
( )
(3)
C ) C )
(
( )

- 206-



8031
0—0.6MPa + 0.5%
’ ( ) |
120 ’
1#
RS232 , IBM PC
| PC
( )
| + 0.5%,
+ 0.5%, ,
+ 3% —10% ’
3.
FORTRAN

PROLOG

DOS PC

- 207-



> 0w DN

(3. 45)

1/(1+ B)

ty + t t -t
th= o= o+ %(tg'+ - 2) T

tw , tn

+
b= ST e £ (1)

208-



tp

th tn tp

tn

tn

to
tn

,tp

th
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(1)
(2)

(3)

- 210-

, 23



(1)

(2)

(3)

40

- 211



(1)

(2)

- 212-

10



20%

( 4. 6)

80% —85%

85% —90%
90% —95% ;

95% —100%

10% ;

120%

213:



214.

16. 0

4.7



4.7

215:



sz

AH

- 216-

Gy

Gq

2

AH /'Sy

y
sz = Gg

(4.14)

Xzd= 1

(4. 15)



Sy

sz = AH r/ Sy (4. 16)
AH —— |
AH .
AH « A |
AHr: AHW + AHV
o= TS (4.17
Sy
_G_ A, :
y = Gu AHw + AH, 1+ AH . (4.18)
AH
= AH w
Ty (4.19)
(4.18) , .
AH.=0 ( , e
’y: 11 , |
AH y= O AH = oo( |
) sy: 0 X2d= 00 |

- 217



y 0,1 :
2.
1 11 21 3’ 41 5
4.7 , AH w/ AHy
de( ) 3 y
4.7
1 2
Gy G
AH w/ AH y X Xz AH w/ AH y X Xzd
(t/h) (t/h)
1 0.2 100 | 1.02 | 1.09 1.0 100 1 1.08( 1.41
2 0.5 100 | 1.06( 1.21 1.5 100 | 1.12
3 1.0 100 | 0.00 | 1.37 2.3 100 | 0.00
4 2.0 100 | 1.15( 1.56 4.0 100 | 1.20
5 50 100 | 1.15( 1.56 9.0 100 | 1. 20
3 4
Gy G
AH w/ AH y X Xz AH w/ AH y X Xzd
(t/h) (t/h)
1 19.0 100 | 1.13 | 4.45 14.0 100 | 1.18| 2.83
2 24.0 100 | 1.17 19.0 100 | 1.26
3 32.0 100 | 0.00 29.0 100 [ 0.00
4 49.0 100 | 1. 27 59.0 100 | 1.50
5 99.0 100 | 1. 27
4.7
(1) ( )

218-



,AH w/ AHy :
X, Xzd ’ ;
(2 AH v/ AH : :
3 4 : AH w/ AH y
: S : 4 :

(4) ! ( )

+ 20%, AH w/AH y< 4
3.

(1)

462m°,

20mm, 40—20mm
219.



220-

4.8 4.8

),
, 41
4.9
4.8

1 101 102 103 104 141

2 105 106 107 108 140

3 109 110 111 112 139

4 113 114 115 116 138

5 117 118 119 120 137

6 121 122 123 124 136

7 125 126 127 128 135

8 129 130 131 132 134

4.8



4.9

101 102 103 104 105 106 107
95.2 64.0 13.6 40.5 65. 2 29.2 13.6
188 89 45 30 1 7 2
1. 97 1.39 3.3 0.74 0.01 0.24 0. 15
7. 13 6.36 0.38 1.52 3.6 2.29 0. 38
280 120 40 10 0.1 2.5 0.2
108 109 110 111 112 113 114
40.5 65. 2 29.2 13.6 40. 5 65.2 29.2
16 -9 18 22 80 54 70
0.40 [- 0.14| 0.62 1.62 1.98 0.83 2.40
1.52 3.60 2.29 0. 38 1.52 3.60 2. 29
5 -3 10 10 60 20 130
115 116 117 118 119 120 121
13.6 40. 5 65. 2 29.2 13. 6 40.5 65. 2
- 23 3 27 41 23 7 - 51
- 1.69| 0.07 0.41 1. 40 1.69 0.17 |- 0.78
0. 38 1.52 3.60 2. 29 0.38 1.52 3. 60
- 10 1 10 50 10 3 - 20
122 123 124 125 126 127 128
29.2 13.6 40.5 65. 2 29.2 13.6 40.5
55 50 83 121 47 36 32
1. 88 3.68 2.05 1. 86 1.61 2.65 0.79
2. 29 0.38 1.54 3. 60 2.29 0.38 1.54
80 50 60 120 60 30 10

221-



129 130 131 132 133 134 135
65. 2 29.2 14.5 62.6 40. 3 124 90. 2
26 7 -4 53 70 156 66
0. 40 0.24 |- 0.28| 0.85 1.74 1.26 0. 73
3. 60 2.29 0.38 3. 60 1.54 14.1 6. 91
10 2.5 - 01 30 50 220 40
136 137 138 139 140 141
90. 2 90. 2 90.2 90. 2 90. 2 127.4
39 48 205 100 116 211
0.43 0.53 2.27 1.11 1.29 1.66
6. 91 6.91 6.91 6. 91 6.91 14.1
10 20 360 90 110 390
: kgl h; . Pg; /
95/70 2. 11t/ h,
10. 79 Pa,
2.16t/h,
4.9 0.5 14
35%; 1.0 20 :
50% 35%

222-



( 4.9, 105, 106, 107, 108, 116, 120, 130) (

), 4 ( 4. 8, 109, 115, 121,
131),
4.10 10. 79k Pa
20kPa ,
4. 10
G kgh
10. 79kPa 20kPa Gz.o/ G1. o9
109 - 9.0 - 12.0 1.34
115 - 23.0 - 3.0 1.35
121 - 51.0 - 70.0 1.37
131 - 4.0 - 6.0 1.50
(2)
4.8 ,201—241, 301—341
: 401—441 501—541
4. 11 115 131

H , AH : o
, “r ( ),
AH /1= Has Hasis= AH 44 AH e AH 2is
=2.29+ 26.3- 39.43=- 10.84mmH:0< 0
AH1s = AHua + AH s - AHai5 = 13+ 27 - 41
=- ImmH0< 0
223



AH 5= H dsr

H ss=

AH s+ AH 350

AH 21

=2.29+ 14.75- 9.25= 7.79mmH.0 > 0O
AH 131 = AH w10+ AHso - AH 23
=0.14+ 12- 12.15=- 0.0ImmH:0< O
4.11
(mm) | (m) X
(kg/h) [(mmH20) | (kg/h) |(mmH:20)
114 20 |[12.0 29.2 2.29 70.0 13 2.40
115 20 4.5 13.6 0.38 - 23.0 -1 - 1.69
215 40 3.7 1504 39.43 1544 41 1.03
314 25 3.7 604. 7 26. 3 614.0 27 1.01
130 20 |[12.0 29.2 2.29 7.0 0.14 0.24
131 20 4.5 14.5 0.38 - 40 - 0.01 [ O.28
231 32 1.7 910.0 9.25 1060. 0 12.15 1.16
330 32 1.7 1199.0 14.75 1098.0 12 0.92
116 20 4.5 40. 5 1.52 3.0 0.01 0. 07
216 40 1.5 1490. 4 10. 6 1567.0 12 1.05
315| 25 | 1.5 618. 3 14.0 591.0 13 0.96
132 20 4.5 62.6 3.6 53.0 3 0.85
232 32 1.5 895.5 11. 1 1064. 0 15 1.19
331 32 1.5 1213.2 22.45 1094. 0 18 0.90
115

224.



4. 8,

H 201 H sa1, 101
141, ;
( )
131 : ,
4. 11 130 131 231 330
: 131 130
29. 2kg/ h, 7.0kg/ h, 0. 24,
2. 29mmH-:0 0. 14mmH-0; 231
910kg/ h 1060k g/ h, 9. 25mmH-0O 12. 15
mmH:0; 330 1199kg/ h 1098kg/ h,
14. 75mmH-0 12mmH-0 :
115 131 116 132
4. 11,
, ( 115,
131) ( 216, 315, 232, 331)
; (216, 232) ( )
(315, 331) ( ) 216(
40mm) , 1490kg/ h 1567kg/h
12mmH:0; 315( 25mm), 618. 3kg/ h
591kg/ h 13mmH:0, ,

- 225



116 ,

(3)
( ) ( )
1:
AHW _ __
Xzd < 1+ AH < 1+ 1= 2 =14 (4.20
1 1
= > — =
Y= e 1.4 07 (4.21)
AH w :
AH 1 ——
1 )
: 15mm, 2
2:
>AH nAH |
Xzd < 1+ AH | < 1+ AH | < 1+ n (4.22
n— ]
AH ¢ ,
AH | ——

226-



( 0),

4.12

4.12

Xza| 2.5013.32| 4.0 | 458|5.10|5.57(6.00|6.40|6.78| 7.14

y 10.41]0.30|0.25|0.22|0.20]0.18|0.17]0.16| 0.15| 0.14

4.13
L=1—4 de1% 15mm;L=5
da28 20 , ; 2—5
1200w
10%
4. 13, 1, 5
2 :
, 20
, 10 ,
(4)
( )

227-



228-



1% —2%,

(1) :
1% —2%,
229



(2)

(3)

(4)
(5)

(6)
(7)
(8)

(9)

(10)

- 230-



(1)

(2)

4.9

4.9

(3)

- 231



(4)

(5)

(6)

(7)

(8)
2mH:0,

(9)

- 232

0. IM Pa



(10) : ,

( )i
(11) , :
( )
1.
T 40H -16 T 10H -16
T 10H-16

, Dn 15—Dn50mm, 1.6M Pa T 40H -16

, D~ 25—Dn~300mm, 1. 6M Pa
2.

D71X-16, ;
233:



,  90°

, O , D~ 40—
D~ 600mm
D71H , ,
3.
P18F-16 P48F -
16, ,
, F-4 P18F-16 Dn 15—Dn~40mm,
, 1. 6MPa; P48F-16 D~ 50—
D~ 200mm, : 1. 6M Pa
, Dn15—Dn50mm . Dn65—
D~ 150mm :Dn200—Dnx600mm
4.
RHV, Dn25—Dn 200mm 4. 10
Dn40mm : D~ 50mm
1. 6M Pa
, 10% 4. 11

234



4.11

235:



10

4.12

Ps

7

5(



2 (p2—ps)

, 5
, 2
, (p2—ps3) ( 7 )
5 2
: (p2- p3) :
2 2 , :
, (p2- p3) :
, (p2- po) :
: 2 : (p2- p3)
) 2 1 (pz- pS)
: 2
, 7( ) (p2- p3) :
2
] (p2
- p3) ]
do
o do/dr 0.95—0.98
dp/df,
] pl
- Ps) :

- 237-



238-

4.13 DN50mm

4.14

4.14



RAVL

AH

5—26
DANFOSS

SG’

AH
L)

239:



L' G', 4. 15
L,
L L' ;
Gl
G
GI
L ( )
( )
: 50%
60% )
dGso—s0 = %)X
dGso—90 = 20 -80 8Q
dGio—2 = %
50% 60%
80% 900% G
12. 5%;

240-

4. 15

60%

dG

100%

100% =

100%

80%

® |

: 50%

20%

12. 5%

100%

20%;
90% ,

10% 20%



( :
); : :
10% 20% 4. 67%
6. 58% : 50% 60% 18. 3%
25.6% : 80% 90% , 50. 8% 71. 2%
dGio_2 = 6. 521? 674' 67, 100% = 40%
dGso_eo = % 100% = 40%
71.2- 50.8
_ = X 0, - 0
d Geo— s 0.8 100% = 40%
10% | 40%
( L )

241.



4.15

4. 16

242.

(T 40H-16)

@l

1AHX ,AH

4.16

AH (' AH ('
AH ~ AH( + AH«

St =

AH

(4.23)



AH ' —

St ——
St

G/ G

0. 033,

(4.24)

) ,AHx: O, Sf: 1,

G/ G’ S

1

(4.24)
SI(AIA)? - (1- S)

: G«
0. 1% —0. 01%
)
: 30 1
50 1
0.02
2% —4%
, S=10
G, Si<1
), G> G«

243-



RHYV -40

. 244.

AH = SG,
G= C AH

S= 1C
L=L/L’

( Dn 40mm)

(

CCR

)

(4. 25)

(4.26)

4. 17



4.17 RHV
(a) RHV 40( Dn40mm) 7 (b) RHV

245:



4.18

L/L'= L,

. 246

4.18

100

1



5% G= 15%,

Gx 8.8%:
Si= 10% G«= 10. 5%,
Gx= 6.3%; Si= 250% | G«
6. 7% 4%, St = 100%
2% —4% ,
(1) 10% 30%
(2) : :
(3) ,
2.
C
c= C— (4.27)
0.316 AH
: G m’/ h, AH kPa
) 3kPa( ) 300k Pa(
) 4.17 o
3kPa AH (4.27),

247-



Dn 40 , 4. 17 C
= 26.9, AH= 3kPa( 0.3mH:0) (4.27)
G= 4.7m’/h ,
: R 84.2Pa/im |, 1. 8m°/ h,
D~ 50mm , R 31.9—
91. 4Pa/ m |, 2. 0—3. 4m°/ h ,
Dn40mm D~50mm ,
: ( ) :

248-



( )
1.
no(r/ min)
n n< no 5% :
) S ]
No- N
S= T( 100% (4.28)
0
(1)
S 2 )
2 y 2 ’ S
4. 19
M’ S’MZd 1Mq 1_5
(2)

249-.



4.19

(3)

- 250-



80% —90%, ,

(4)
( GWT )
( )
(
1—1U5 )

4.20 GWT 4.20
1— ,2 33—
4— 5— 6—
7— ,8— 9— ( )

251-



( )
)
( )
(1)
(
no = 60f ./ P r/min
(4.28)
n= 60f:(1- s)/P r/min
n— , /' min;
fa , Hz;
P——
S—
S fi
P

- 252-

(4.29)

(4. 30)



(2)

(3)
(4.29) (4.30)
fa,

- 253



254.

P.= Pa/(1-

AP =
P

P.=

APs

P, =

AP, _
PZO a

9 = (1- S)2P20

S(l - S)szo

s(1- )’

P

P 20;

(4.31)

(4.32)

(4.33)
)

(4.34)

(4. 35)



Ns
n= PadPi= (1- 8)°/(1- 9°=1- s  (4.36)

2.
, Pl, sP:
),
P= (1- s)P:
, P 1o P 20
| | B, B,
Elz Ez/(l- 9
P=Pu- P
J— 2
=1- PJ(1- 8= 1- (1- %= 1- i (4.37)
3.
) ’ §31~
P.x P, 3
J— n 3
P=1- — (4.38)
No
, P
P=1- — /r]c (4.39)
No
n— , r];> 90%
4,

255:



4. 14

7 ,
( )
( ) :
4. 14
P
(%) 100—50| 100—80| 97—10 | 97—30 | 100, 50 {100—40| 100—0
()

qﬁl—snﬂl—srﬂl-sqﬁl—sn n n
coS(Q cosQ (s Y0) COS(p cosQ [voY0) CoS(p

256-



80% 50% :

00S® 65%,
85% ,
1kW 900—1000
1.
Y y X
1Q ’
Y = (tw- te')/ (twg- tu) (4. 40)
X = (h- ho)/(hs- ho) (4. 41)
Q=Q/Q
:tW ,tW, 1th
,h tw ,hO tW, y
hs QQ
( 4.21) X=1f(Y) ,
X=Y B()Y"" (4.42)

1

- 257-



Y=y A(T)X*H? (4. 43)

A(i), B(i) : : :
4.21
<t Q= 1.0, G
, G= L0 tw> tw  twS tw
G< G, G<1.0, Q<10 E
E=E.+ E

n

_ < GHAh  GH'h
=2, 3671 367N

_GH'

- 367]’] Z G Ahl + hO

_ G'Hf "z _

= 2o} . Gdh+ e KW joh (4. 44)
El tqu tw> tw' ,kW h,
E: tws tw' , KW - h;

258-



Gi— [ , t/h;

Hi— i , m
Ahi— i , h;
N— i ,
HI n’
n=n
,_ GH'
E'= 367 h.
E
_ h—
E:_[ “Gdh + ho /h.
0
G tv 0 ,
(
), (3.83):
__ tn" Tw v
G_ tn" tw'
X = (h- ho)/(hs- ho)
dh= (hs- ho)dX
(3.83) (4. 47) (4. 46),
E<f | t”, S (e hoydX + o /hs

(4.40), (4.42),

6

dX = ¥ (i- 1)B(iY" *dY

dtw
twa - tw'

dy =

(4.45)

(4. 46)

(4.47)

(4. 48)

(4.49)

(4. 50)

- 259



(4.49) (4.50) (4. 48)
E-=- th—w t:" ttwq—:vvv“ S (i- DB(IY"* du
t ' 6 , i 2
Chlrrs Bl W CNE L L Srwsarw
(4.51)
(4. 51) E tu ,
E
b, 100 , E
4.15 20 E
4. 15
E () E ()
0. 637 2.4 0. 667 3.1
0. 636 2.4 0. 688 3.5
0. 637 2.5 0. 686 3.8
0. 652 2.5 0.719 4.1
0. 651 2.6 0.727 4.4
0. 659 2.7 0.714 4.5
0. 659 2.9 0.720 4.8
0. 646 2.9 0.716 52
0. 655 3.0 0.741 59
0. 686 3.0 0.754 6.3
2.
E

260-



J= 2& (1- E)NyhsGCs (4.52)
Ne , kKW;
hs  h:
Cu ,  TkWh;
C, T
T, = C/J (4.53)

0.5—0.6W  (

0.4—0.5w ) 700—1200 /KW,
0.2 /kWh,
, 4.15
( ) (
) (3.73) (3.74) ,
E= 0.23, 1.6
4.15 |
( )
, , 1—3
( ) ,

- 261



262-

81

1989

2.0



10 1

) (JGJ26-86,

97%

22

3%

CIBS

18

( C3J34-90, 1990

1986 8

20

ASHRAE

20
16

1% —

263:



- x  100% (5. 1)

2. 1t (0. TMW)
, 8000—10000m*

47—70w/ m’(40—60kcal/ (m*- h)),
70w/ m°(60kcal/ (m*- h)) :

10, 000m’; 47w/ m’(40kcal/ (m*- h)) ,
15000m°
5000m’,
, 8.7
: 4000m’ 10000m° :
60%
30%, 8000m* ,
70%, 56% ,
3.
4. (95 )
’ 2_
3kg/ (m*- h) ,
25—20 , 58—70W/ m’

(50—60kca/ (m*- h)) :

. 264-



kg);

(1)
_ Qu _ 1
bi B r]ger]gerw B r]gen dr]gerw g/ kJ (5 2)
s —— 1kJ , g/ kJ;
r};e , r};e: 0. 9—0. 94,
N 1je= 0.98—0. 985;
pr—— y Nor = 0. 95—0. 99,
Qo  Quw= 29, 31kJ/ g( 7000k cal/
qd 1kJ ’
k- i1
qd— d(lc' |z) - (i:' iz)r]jd_ nd (5 3)
d— 1k J kgl kJ;
ic , kJ/ kg;
i kI Kg
Nee= 0.90, Ne= 0. 98, ;= 0. 99,
b= oIS = 0, 0302/ k(141g/ kWh)

1

= / kJ 5.4
N i@ Qow g ( )

- 265



b— 1kJ . g/ kJ;

Mo ——
r]glz O 9, nlvrz O 92, br:
0.0342
0.8 09 0. 0413g/ kJ(41. 3kg/ GJ)
(2) (5.4)
Mot = 0. 71, 10%,
_ 0.0342
b= -84 = 0.0537g/k (53 kg/ GJ)
0.0537g/kJ  135kg/t( ),
(3) ,
o= —23£Ga g (5. 5)
nglr]Nerw
bra ) ’
kg/ m*;
Z— , d;
Cpa S W/m’,
( ), ;
_ 0D s
qna Z(tn' _ tw') (5 6)
O W/ m*;
Dis 18 ) d;
tw ,
5.1 Cha

- 266-



1980—1981 ,

, 20% (
) Noe= 0.55,rhr= 0. 85
51 Ora

33.75|33.38( 33.25 | 32.88 [32.63|31. 88|31.63|32.00

(W/m?
27.01]1 26.7 26.6 26.3 |1 26.1)|25.5(25.3(24.8
(W/md
(d) 177 171 162 166 152 133 126 102
2000 1993 1995
2000 , I']ge
Mwr
(1993 ) Noe= 0. 55, MNr = 0. 85
(1995 ) nge= 0.60, = 0. 90
(2000 ) nge= 0.70, = 0. 90
5.2
6.
2Qq
t — 0 .
Ra= Ok 100% (5.7)
Rxt ;
5 Q—o , :
ZQQ_ ’

267-



5.2 2000

(kg/ m®) (kg/ (m*- d))
1993 1995 2000 1993 1995 2000
37.7 32.6 28.0 0.21 0. 18 0. 16
36.0 31.2 26. 7 0.21 0. 18 0. 16
34. 4 29. 8 25.5 0.21 0. 18 0. 16
34.0 29. 4 25.2 0.21 0. 18 0. 16
31.3 27.0 23.2 0.21 0. 18 0. 15
26. 7 23.2 19. 8 0.21 0. 17 0. 15
25.1 21. 8 18. 3 0. 20 0. 17 0. 15
19. 9 17. 3 14. 8 0. 20 0. 17 0. 15
2 Qq ,
( ,
’ ZQQ
, ( )
) ] it
= 85%: . R%= 90%

268-

Ry



Ry
Nnr joAr

Ry = W 1000%0 < 2%o (5. 8)

A— .m’:

n—— , h;

Ar—— ,mz;

Nr—— , h
(5.8) ,

] ) Ry
R ( 1- RlL= 10% —15%)

269-



3.7

10 (
)
5.3 ,
4t/ h 90%,
2. 8t/h, 1
64% , ,
! (
4008m°) , ,
: 55%
: 29 ,
53 10 (1989 )
it/h K 4t/h ,
10000m
2
(104m2( )1C ) [(Wh)y | (t/h)y | (m%) | (%) (%) (%)|(%)
7421 14180(6537|18512| 2.8 4008 90 64 28| 72
1. ,
55% 70%

270-



(1t/h

3.

4, ,

Y
Lo

Q_
Qy
Qr_

50% —70%,

92% —95%,

r]wr

100% = % 100%

. GJ h;:

, GJ h;

, GJ'h

30% —50%

5% —8%

(5.9

271



85% —90% : 10% —15%

: 60W/ (m- ) ( 20 ),
(45W/(m- ), ,

0.026W/ (m- ), (2.5%—3.0% )
(

1/3 : : :

- 272



2—3
Ps= Po+ 25 jacy/dn (5.10)
ps , P&,
P , P&
dn M3
Oy—— , Pa/ m’
S — , m
, §= 0.001lm; 2—3 , § =



0. 002—0. 003m
, < 0.001m

(CCR )

274



10%,

28%,

23. 2%,
10

2%,

275

5.3



' ) I 10%

( 90%,
10% ) ,

60%),

276-



( 1. 10
1.
(3.43) (3.44)
51
tjg: 70 (twq
(3.58) )

(3.67)

Gi(

twj

tw2 twj

(3.48) (3. 49)
(3.68) 5.1
Qn tw
twj> tw> tV\;
W1),
70
70 (
60 )

’ tWQZ
+5 ) ,
thn Gn

( (3.57)

- 207



5.2
the
twe> tw> th
Q
tw :
Q
( )

(1) twa> tw> tw

,te= 70

(2) twi> tw> tue
(3.50) (3.51),
, tht
(3) twe> tw> tw
to
(3.51), -
, tht

278-

Tht

ty

G

, (3. 50)
tor= (tot tne)/2

tg



(3.50)
(3.2) (3.18) (3.22)
Q= &WAtz
. 1
- W 1
0. 5Wd + 0.5+ 0

W= W< W2/ Ws

(3.51)

Ws 0.5
Wi u_ 4 Wi *° Wi 0.5— 0.5
tkg - tin W Wy . |
13 t" ] : g’ ) k”
: mi= 0, m= 0.5 )
| (3.18) a=b=0.5
W: Wi (to= tw)
g= —2—
Att W
Att—— tu -
W :
(h- )
(5.11) , twn '
’ tkn= tw tw ’ ter
( ) Wi )l
3 5.3

(5.11)

, GJ/

279



E}Wrx(tg - t|) — WZr(tr ) t|)
to

— ’ o
tr_ ’
60
Wzr ’
KI(h- )(I (s )):
Wix
kith- (I (s )
T (3.18),
(5.12) —
W ty -t = - (t - 1) (5.13)
anr + b+ 1 m
" ,kdI(h- )
(J(s ))
- (3.24), Ws
, Wa= W
ty - 1 = (t- t) (5.14)
a+ bW2r + 1  Wa
W Wi
to

- 280-



W,

thr = tg = er(tr = tl) (5 15)
( 1) twq > tw > twj
tgz 70 ’
, (5.13)
(5.14) (5.15), ab
ti :
er thr
5.3
(2) twi > tw> tvx’
to
53
tw
(5.13) (5. 14)
y ) tg ’ ’ W2r
, W wr (5.15) ) to )
thr
Qr ' Qrd
y QI’ y
W/ W tg ( (5.13) (5.14) (5. 15))
Qr tg ( ) ’
WZr/ er , tg (tw

281-



tw

) Wad W ,
W
W/ Wi : thr
Qr :
W Wor ( )
» Woar Q W
thr , thr ) W
thr : W ; Thr , W
ty , Q , thr
(5. 14) (5. 15) ,
1 1 Wa
= (t- t) W 1 wa. 2 W
qw, TP T WL
1 1 Wa
tw= (t- t) Wa 1 Wa 2 We
a+ bW1r + = Wa
(5.16) Wa= Wi, (5.17) W= W
tw , Lo . Wa/ Wy , thr
514 Qr .
Wi tw= tw
53 Wi ;
4= QU (th- th)

282-

to

(5. 16)

(5.18)



Wi——
Q —
514
er W2r
(5. 15)
W= W2r,
Qr: QSr

Q(r), Wi> W Q?

er: W2r;

,kII(h- ),

, kJ'h(kwW)
th
tw= fw ’
= 70
the
, ty
(
)
b= thn
(5. 18)

Ql th, th W'y

Qr, tg!

i
thn,

(5.13) (5. 14)

Q'
Qr< Q?, W1r< WZr;



(5.19)

(5. 20)

(5.22)

Q?: W 2 1+_(tg - tl)
W1r> WZr y er
Wi, _ 4a2 §
Wz foot ?
1+ 1+ 4a” ——Wx- b
Qr
er< WZr f er
Wi 4 °
W2r B t _ tl ?
1+ 1+ 4b7 " Wa- a
Q
er,
thr
4.,
W= W,+ Wi+ W
W, W,, W: W
55
1— , 2—— , 3——
4 5 5.5
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tw= twi
) y tw twj tw’

tw ;
tV\’/t y

’ th ’

(60 )

285-



286-

5.6



Q. , Q ,
Qr | Qr, |
Q= x.Qf (5.23)
Xr—— , , Xx=1.1—1. 2
Xr= 1.0
! Q tu
, g On
tan, thn ,
to, th
tg = ton+ O th= tw- On (5. 24)
tw= twi &
thn, th
th= the- At (5. 25)
At: :
: At:= 5—10
Q twj
Sh
3 = pgttjf: :(t'gn- tht) (5. 26)
o — :
= QYQ (5.27)
Q.
(3.2),8 &
OnWor eWor (tm - 1)

éthZr = EerZr(tjhn - tl)
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&= &= L
W 1 Wz
wy TPt W
&= & (:,: ::) (5.28)
Qo v,
5 , 3= 8o+ On,
5= pr(ted - tal) (5.29)
S = 8- & (5. 30)
(5. 24) to, tn
tw 5.7 , t'w
On ,
; g ,
tu :
’ 69 ’
to te= 70 “ "
( 5.7 )
, G
G Ge , G’
Gr: )
twj
5.1 X;i= 1.2 p=0. 3 th=70 ,th=41 ,t=5 |,

tr= 60 ,t/= 150 ,tm= 70
288-



57
tWi tV\; tg , th

At:= 6 (5. 25) ti= 41- 6= 35
(5. 26) Sh (5.28) S
5 = 0.3 % (150 - 70) = 13.0
60 -
& = 13. % Hz 23. 4
th= 41- 13= 28 ,t'n= 70- 23.4= 46.6 (5. 29)

= 24
8= 24- 13= 11 ,85 = 24- 23.4= 0.6
289-



th= 70+ 11= 81

, tg= 150+ 0. 6= 150.6

5.4 5.5
ty tn="F(Qn, )
t§= 150 ,th= 70 ,At=8 ,x= 12, t=60 ,ti=5
54
o p?= 0.15 p?= 0.3 pf= 0.45
Q
tg— tgn th— thn tg th tg th tg th
1.0 150 70 151.2 | 56.8 | 151.8 | 43.0 | 153. 2 30
0.8 126 62 128.8 | 50.4 | 131.2 | 38.4 | 134.2| 27.0
0.6 101. 5| 53.5 106 43.6 | 110.3 | 33.5 | 114.9| 23.7
0.4 76 44 82.4 | 36.0 | 88.6 | 27.8 | 95.3 | 20.1
0. 354 70 41.7 | 76.9 | 34.2 | 83.6 | 25.5 | 90.7 | 19.2
55
o o° por= 0.15 pr= 0.3 pr= 0.45
tg— tgl th= tha tg th tg th tg th
1.0 150 75 150.0 | 61.5 150 48 150 34
0.8 126. 7| 66.7 | 128.3 | 54.7 | 129.5| 42.5 | 180.9| 30.4
0.6 102. 1| 57.1 | 105.4 | 46.9 | 108.7 | 36.7 112 26. 5
0.4 76.4 | 46.4 | 81.8 | 38.3 | 8.2 | 30.2 | 92.6 | 22.1
0.35 70 43.8 | 75.9 | 36.2 | 81.8 | 28.6 | 87.3 | 21.0
1.0 180 75 180.3 | 56.4 | 180.6 | 37.8 | 180.9| 19.2
0.8 148.3| 64.3 | 151.5| 48.6 | 154.7 | 32.9 | 157.9| 17.2
0.6 118. 3| 55.3 | 124.9| 42.0 | 129.5| 28.7 | 135.1| 15. 4
0.4 87.2 45, 2 95.5 34.6 | 103.8 24 112. 1| 13. 4
0. 295 70 39 79.9 30 89.8 21 99.7 12
2.
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tg - tw W Er Wn(te- tw)

' 0.5+ u oy Ay Wix eWrx Otn

be W Ty ow, T Yt Wt Tw,ow,
(5.31)

Q” ,Qn: Qn/ Qn
W , Wa= Wn/ Wh;
8_ 1
[ X
tW 1
tr— ;
WTX
tn ;
tw ;
u— 1
6t,ﬂ ,6tr1= tg,n' th’n,

I | — _1 I I I .
Atn ,Atn— 2(tgn+ thn’ 2tn),
Bo ,Bo= B/ (1+ B)

tg - tw- Qc
Q= Win
o At/ 0.5 Wo
n- tw + - i - &
- Wt g Ty O 1 E gy,
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S TRCERD)
ST, wa W (5.32)
& Wnx W 1, Wi
Wi ( ) ;
Wan ( )
W nx )
& — )
Ath, 5t ( ) (5.31)
(5.32) , ,
Wz Q=0 , Wu=0
(5.31) (5.32) , (5. 31) (3. 42)
(5.31) (5.32) Q
Q :
Q-
24
Q= Zl hiQni (5.33)
— ;
Qni i :
hi— 1
5.2  ti= - 20 Qi=
1IMJ/s Qf= 0.25MJ/s, x.= 1.2
ti= 150 ,ti= 70 ,t2= 95 ,th= 18
Ati= 64.5 ,u= 2.2 8= 80 ,Wx= 10°(150- 70)= 12500
J (s K)

- 292



=60 ,t=5 ,ty= 42 t
=36 ,W=z= 250006 1.2/(60- 5)= 5454J) (s- K), Qi= 5454
x (36- 5)= 169k J/s
Q= 0.5MJ/s,te= 85 ,tu=- 5 ,

KF
In Atza - (Q/Wa) In 37 - (169000/ 12500)
KE = Atzo - (Qf Wx) _ 37 - (169000/ 5454)
(1/Wx) - (/W) (1/5454) - (1/12500)
= 13400J (s ij=K)
_ 13400 - 17
12500¢ 5454
Q= 0.5MJ/s &
_ _ 500000 _ _
Wz = Wi = 60- 5 9100J/ (s joK)

Wi = W= 12500/ (s oK)
W/ Wre = 9100/12500= 0. 73
1

& = 1 = 0.72
0.3%x 0.73+ 0.65+ 1—7 0.73
(5.31) Qn( Q.= 0.3,Qn°= 0.78)
500000 9100
85+ 5- “o500 © %72 710500% (5* 9
Qn = 2.7 64.5 9100 9100 = 0.34
18 + 20 + 3'2>< 80 + 0 78 1- 0.7 12500 + 0.7 12500X 80
, Q= 340kJ/ s
: ( ) t2g=
5 | Q1= 325kJ/ s, ( )
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tzn= 31.8 , Qr2= 175k J/ S,

t= 17.8 t.= 24
3.
WI
g
Qi+ Q@
r = |
W' = CG' = t]g ] tJh (5 34)
(5 34) tW: tWi ]
( ) tyn= 70 ,
Qh (th- th)= Qi (tir th)= Gi G > G,
: (5.34)
G
WI
) £ -t
Q= O — (5.35)
th
th= the- (QI/W") (5. 36)
W2r
W2r = Q?/ (tr - tx) (5 37)
t, b, thh  th At
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Q= Q- & (5.38)
(5.38) ( x:= 2.0),
Q ,
GI> Gn'(
),
G th
thh = to- (QI/ W) (5. 39)
t, thth  thd At
, ?
1 1 ?
? ’
5.8
2Q,

295-



2Qr,

15% —18%

2Q,

(5. 40)
. 296

5.8

a= Qj'/Q'

2 Qr

2Qi

> Qi

(5. 40)



, a
, 0.5—0.8
110/ 70 , 150/ 70

’ o< 11
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5.9

- 298-

lhr
abcdd ghya

5.9

(tg, th

ha



( 0.12—0. 25MPa)  0.12MPa

: : (
0. 8—1.3MPa) ,
Qe ( ),
5. 92 Qs € ghike :
, Qi
twe 1 2 Qr,
dek Id , twe s ;
twe 2 Qe
2 Qra, cdimc , twe, 2
, 1 2
1 > Qqo. 1, bcmnb
2 2 Qug. 2, abna
( ) ,
: twes
Qi twe 3 thw
k i -
: 0.12MPa ,
104 : 94 ;
0.25MPa 127 ,
117 twe> tw> twer 0.12
MPa twe, 1,
59 : 94

299-



),

twc,1> tw> twc,3 y

th ,
)
MPa,
mai= 0,
W's
mz )
, w
Qrd
tq
tw
Qrd

- 300-

0. 12M Pa

0. 25M Pa

tc

(

2252—2182kJ/ kg,

3%

, pr

twc,3> tw> tw' y

£ (3. 19)
fo— 1
b+ (1
(3.22)
w= W2/ W,

Qrd = SWS( tq -

,tg= 127

5.9

0. 12M Pa—0. 25M Pa

59 ek

0. 25

(5. 41)

(5. 42)



0. 25M Pa, ,

117 , 5.9 rs
0. 8—1.3MPa,
170. 4—191. 5 ,
117 150
5. 9 y fwe, 1 y '
) tw= twc,2 )
, P
u u q
tg
( ),
th {o
( ) ,
Q= Z Qi (5.43)
Q: = Z Qi (5. 44)
Q— :
i— [ | ,
Q- :
in i
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twi

tw

tw

302-

5.5

te= 70

twi



tw

t'w

303:



5. 10
3
13 14 15 16
(10 11 )
45
14 16 17
45
6 .12
23 24 ,
, 10 11 12

19 21 22

. 304-

4
18 19 20 21
13 16 17
(10 11
,13 15
(10 11
23 24
456

4 5

18 21 22

18 20
)

)



5.10

9 12—

13 24—

305-



(
No= min(l- twlta) (5. 45)
N n ;
tin——m
feq
(5.45) , tin/ te , ( )
y tin
( )
tin
(
)
2.
( )
( )
( )



WTF= Q/'y N (5. 46)

WTF—

Ni— 1

- 307-



(1)

(2)
(3)

(4)

- 308-



- 309-



- 310-

: (



10% —20%

(1) : :

(2) : ;

(3) 6.1, 6.2),

6.1
() ()

1 DBY -120 700. 00 2, 100. 00
2 DBL -440 1,150.00 | 2, 300.00
3 (BA?2) XQD-100 1, 200. 00 2, 400. 00
4 (0—10mA) | XWD-102 1, 300. 00 6, 500. 00
5 DX S-102 700. 00 1, 400. 00
6 BA: 86. 00 172. 00
7 115. 00 230.00
8 K GD-221 2,000.00 | 2, 000.00
9 802. 00 1, 604. 00
10 35% 6,547.1
11 25, 253. 10

311-



6.2

( ()
1 D971X 4,000 4, 000
2 RH-DCU-UP4210 9,500 9, 500
3 DBY -120 700 2, 100
4 RH-CWS 300 600
5 1, 300 1, 300
6 2, 500
7 20, 100
8 35% 7, 035
9 27,135
6.1, 6.2 1988
1. ( DDC)
6.1
: (
PID ), ,

312.

, DDC



6.1 DDC

( ) s (
) ( )
DDC
(
) I (A/D)
( PID, )
/| (D/A) : (

- 313:



DDC DDC

2 ( ScC)

DDC
6. 2
SCC

DDC

6.2 SCC

SCC

DDC
SCC

286, 386

, 6.3 ,
. 314



MIS

6.3

DDC

386, 486

315-



- 316-

CRT

6.4



:0,1,2,3,4,5,6,7,8,9 : (

)

, ( D )
Ds D D1 Do

Ds D2 D:Do= D% 10°+ Dx 10°+ Dx 10'+ Dx 10°

, , D3

10° ,Do 10° ,

2.

: ( B )
B:B:B:Bo= Bx 2°+ Bx 2°+ Bx 2+ Bx 2
,1001 : :
¥k 2+68 22+8 2'+ % 2°=9
3. ( H )

:0,1,2,3,4,5,6,7,89,A
10), B(11), C(12),D(13),E(14),F(15)

HsH:2H:Ho= Hx 16+ Hx 16+ Hx 16+ Hx 16°

317-



(1)

1001 1100B (B )
= (X 27+ X 2% 16+ (X 22+ X 2)x 16
= 9CH (H )
8 8 (81 16’ 241 32 )’
2,4,6,8
(2) , , : ,
4.
(1)

:1101B= & 2°+ ¢ 2°+ O+ ¥ 2°= 13D

* B(Bmnary) D ( Decimal) H
(H excadecimal)
(2)
13D
13 2=6 1( )
& 2= 3 0
3 2=1 1
r 2=0 ( )
:1101B
5.
: 0- 15,

- 318-



6.3
- 8 1000
7 1001
6 1010
5 1011
- 4 1100
3 1101
2 1110
1 1111
0 0000
1 0001
2 0010
3 0011
4 0100
5 0101
6 0110
7 0111
6
(1)

16 6.3 0—

, - 1— 8
-1 , 1111 .11
1 10000, ( )1
1111 1 0000
1111 0000 1,
1111 -1
0 1
:5- 3= 5+
(- 3)= ?, 3 - 37
“ 17 , 0011 1100,
1, 1101 - 3,
0011
VL
1100
1 + 1
- 3 1101
5 0101
+ (- 3 + 1101
2 10010
T
; X |

319



, n n- 1 0 A
) 8 1
0111 1111 + 127( )
1111 1110 - 2 )
1000 0000 - 128( )
: 8 - 128
, 16 32
(2)
] 1 (
),
, . 24
24, x 10°
240. x 10 °
2400. x 10 °
8
2 010]0 0j0]1{0

- 320-
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1.5 01]0]0]0]0]0]|L

0.25 0/]0]0]0]0]0.|0
R
8 : 3 4
3 - 1.5
10000001 .11000000 00000000
T T
() )
1, 7
1 1!
( 1 )1

1.1 000000 00000000

| N
Nyt 27

x=- (¥ 2°+% 2'+8@8 2°%+8 2°+ y=- 1.5

0. 5( . 10000000

0.25
) :

321:



01111

111

.10000000

x=8 2°+8 2'+%x 2°+8 2°+

322.

0.0100000

000000O0O0

T
Xyt 27

16 ,

6.5

6.5

000000O0O

= 0.25



1971 INTEL 4040
1982 32 ,
5000 / I,
80286 16 286
80386 80486 32 386 486
| 20MHz 50MHz

4M 1) 1

6.6

6.6

(1) , CPU,

323:



(2)

ROM

(3)

Al D(
D/ A(

/

. 324

(RAM),

(CPU)

CRT

)

CPU

1 O , CPU

, CPU 1/0
EPROM
1/0



(4) :

CPU

, 16 2" =

64K (B) ; 20 2°= 1M ,

1M CPU
3.
, 20% —30%

(1)

( ),

325:



BASIC FORTRAN PROLOG
(2)

CPU —_ CPU

DBASE
- 326-



1976

CPU RAM ROM
(EPROM), / 110 ( A/D

)
6.7

6.7

80

- 327-



50

INTEL M CS-51 M CS-96 ;
NEC 78AD 6.4
6.4
M CS51 M CS96 78AD
CPU 8031 8751 8098 UPD78C11A  |uPD78C12A
ROM Ak 8 EPROM 4K« 8 8K« 8
RAM |126 8 126 8 232 8 256 8 256 8
x 16 X 16 4 16 8 16 8 16
1/0 32 32 40 8( ).& 5 )| ( )
1 1 1 1 1
A/D / / 10 / /
8 8 16 8 8
MCS51 CPU 8751 :
JXe) ,A/ID D/A :
RH-DCU
RH-DCU MCS-51 ,
/ : ,

328-



DCU6242, DCU4221, DCU -CW 5000, DCU -CW4200

6.5
4 , DI Al DO AO DI
( ) DO
: ( ) Al
, 4 RH -
DCU-UP6242, ,
24 ) 8
16 8
6.5 RH-DCU
DI | Al |IDO|AO RAM ROM
1 |-up-6242| 24| 8 | 16| 8 |8K(* * ) |32K
2 | -UP-6260| 24| 8 | 24| 0 |8K(* *) |32k
3 |-UP-4221| 16| 8 8 4 | 8K(* * ) | 32K
4 |-up-4210| 16| 8 0 | 8K(* *)|32K
5 |-Uw-4040| 16 | 0 | 16| O | 8K(* * ) [ 32K
6 |-UW-2020| 8 | 0| 8| O |8K(* *) [32K
7 | -CF-1020| 8 | 0 0 | 8K(* * ) |16K
8 |-CF-1020| 2 | 0| 6| 0| 128(* ) [32K
9 cw-2210Q 8 41 0 |8k(* *)|32K
10 | -CW-4200]| 16 0 0 [ 8K(* * ) [32K
11 |-cw-5000|{ 20| 0| 0| O |8kK(* * ) |32K
-UP- , -UW- , -CW - , CF-
*) RAM (2 %)

329



STD-PC, STD-XT

STD

STD

STD

114 165mm?

ROM

/0

- 330-

RAM)

56

6. 8

1978 ,

, STD

D/A  A/D

6.8



56
56

+ 5V

STD

A/D

+ 12V

D/A

A/D

D/A

1. D/ A

D/A

6.9

331



D/ A ,

D/A ,
D/A D/A
: T 6.10
6. 10
R 2R
, Y
1 : O" 1
6.11
1000 6.11(b),
2R V: :
' (C) y O VO
_ _ 2R ., _ 1
Vo= Vb = R + 2R oV, = 2Vr (6.1
0100 C 2R
Vr ’ ( )l
Vo Vo= %Vr ,

- 332



6. 11
1

a.,. _ 1
0010 , Vo= 8Vr, 0001 ,Vo= 16Vr
1 1 1 1
V= - EB3+ ZBZ'I' 5814' 1_680 Vi (6.2
B: B2 B: Bo
n , 2" ,
1,
_ 1 1 1 1
= . 2+ 4+ 8+ +2n V. (6.3)
D/A DAC DAC
DAC )
8 , wov
1 _
27< 10v = 39mV
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2. AID

AlD ; ADC,
ADC
ADC
AlD ,
6.12
6.12 A/D
(1) K1 :
Vin, y
Vout
Tl
Vout = - ﬁ: 0 Vindt = VA (6 4)
V1 T: Vin ,
T
V.= Vindt (6.5)
1

. 334



(2)

T2

(6.7)

(6. 8)
V1
T2

Va = R_CT1V1
T2 ,
K2 KS y Vin
K: Ks Vin
T
Vot = Va - fc . V.dt =
Va év Tz
T2= - Vi = K Vi
) T2
T2
: (A/D)
T:

(6. 6)

K1

(6.7)

(6. 8)

335:



(
40% —70%
60%

- 336-

60%



1 * 1% ’
, 0—100
+ 1 0—10
0.1
(
) ( )
0—10mA 4—20mA;
0—2V 0—5V  0—10V
Al ( ) Al D

337-



1 0_ 2V

: 6. 13—
6. 17
: 0—10mA
, 6. 13 : 200Q
4—20mA , 6.14 :
100Q , 6. 15—
6. 17 ;
1mA
6.13 0—10mA 6.14 4—20mA
DDZ- DDZ-

- 338-



6.15 0—2Vv 6.16 0—5V

6. 17 0—10V

( ) 6. 18

6.18

339:



, A/D

DI ( )
6. 19

6.19

, 6.19
ImA ( 750Q),

. 340



6. 6

t R (Q
()
0 100 100 100
100 139 160 144
, , 10
4Q ImA
4mV
’ ’ 0_
)\ 4—20mA
2 PN
PN
PN 100mv/
A D590 ,
: - 55—
+ 155 0.5
] ’ O_5V ’
3.

341-



, : B (

( 25 ) : TX TZ
, 6.20, 6.21 TX
, - 30—60 TZ
6.20 TX
6.21 TZ
6. 22 a

. 342.



6. 22

(a) (b) (c)
( -
) ) . ” )
( 6.22(b)) ( 6.22

(0) :
, 10—20kQ ,

100kQ :

100pA , 0. 01lmw

6.23
. 343



6.23
(a)

R C
C
, 7 0,
D- Rt 955
, 555
: R
555 T
Rt R
Rt t
4,
9980k Hz; 100 :
1 900H z,
+ 0. 001
6.7

344.

SV, 555
D: , D2 :
, 555
D: , C
7 , C
Rt 1] H
T2 ,
,R/R= T2/T1,
0 ) fo=

f 100= 100070kH Z,

I+

0. 05—



6.7

(

)

(H2) () (s)

Ae

SQT BZ - 80—0 + 15 0.0001 <5
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